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CONTID

FRo M EXAMPLE 7 Figure 12 shows a solid with a circular base of radius 1. Parallel cross-
Lies T sections perpendicular to the base are equilateral triangles. Find the volume of the solid.
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EXAMPLE 1 Find the volume of the solid obtained by rotating about the y-axis the
region bounded by y = 2x* — x’ and y = 0.
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EXAMPLE 2 Find the volume of the solid obtained by rotating about the y-axis the
region between y = xand y = x
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about the x-axis theregion under the curve y = Vx from O to 1.
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EXAMPLE 3 Use|cylindrical shells\to find the volume of the solid obtained by rotating
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EXAMPLE 4 Find the volume of the solid obtained by rotating the region bounded by
y = x — x> and y = 0 about the line[x = 2.
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EXAMPLE 5 Figure 11 shows the region in the first quadrant bounded by the curves
y = x> and y = 2x. A solid is formed by rotating the region about the line x = —1.
Find the volume of the solid using (a) x as the variable of integration and (b) y as the
variable of integration.
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(a) How much work is done in lifting a 1.2-kg book off the floor to put it on a desk that -

is 0.7 m high? Use the fact that the acceleration due to gravity isg = 9.8 m/s’. (1 &

(b) How much work is done in lifting a 20-p weight 6 & off the ground?
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